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MAGIC.105 - % Insert size = 0 (1kbp window)
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f\\ B Controllers — Sample size = 96
B Dense breakpoints — Sample size = 81
O Reliable breakpoints — Sample size = 10
T

! ! ! !
0.00 0.05 0.10 0.15 0.20

N =96 Bandwidth = 0.005645

MAGIC.149 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 57
B Dense breakpoints — Sample size = 23
O Reliable breakpoints — Sample size = 29

N =57 Bandwidth = 0.04075

MAGIC.175 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 46
B Dense breakpoints — Sample size = 18
O Reliable breakpoints — Sample size = 23
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MAGIC.287 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 49
B Dense breakpoints — Sample size = 30
O Reliable breakpoints — Sample size = 14
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MAGIC.329 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 75
B Dense breakpoints — Sample size = 33
O Reliable breakpoints — Sample size = 37
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MAGIC.338 — % Insert size = 0 (1kbp window)

B Controllers — Sample size = 54
B Dense breakpoints — Sample size = 32
O Reliable breakpoints — Sample size = 17
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MAGIC.426 - % Insert size = 0 (1kbp window)
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B Controllers — Sample size = 43
B Dense breakpoints — Sample size = 18
O Reliable breakpoints — Sample size = 20
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MAGIC.433 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 67
B Dense breakpoints — Sample size = 42
O Reliable breakpoints — Sample size = 20
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N =67 Bandwidth =0.01423

MAGIC.446 - % Insert size = 0 (1kbp window)

B Controllers — Sample size = 64
B Dense breakpoints — Sample size = 45
O Reliable breakpoints — Sample size = 14
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